

E02040P12

Collision of Cosmon with Electron
 Head on Collision

$$m_u v_0 = m_u v + m v$$

$$m_u u_0 = m_u u + m v$$

$$\frac{m_u c^2}{\sqrt{1 - \frac{u_0^2}{c^2}}} = \frac{m_u c^2}{\sqrt{1 - \frac{u^2}{c^2}}} + \frac{m c^2}{\sqrt{1 - \frac{v^2}{c^2}}}$$

~~$$W_0 = W + E$$~~

~~$$1 - \frac{u_0^2}{c^2} = \frac{m_u c^2}{W_0}$$~~

~~$$\frac{u_0^2}{c^2} = 1 - \frac{m_u c^2}{W_0}$$~~

~~$$m_u c \sqrt{1 - \frac{u_0^2}{c^2}} =$$~~

$$\frac{1}{c^2} \left(\frac{m v - m_u u_0}{m_u} \right)^2 = 1 - \frac{m_u c^2}{W} = 1 - \frac{m_u c^2}{W_0 - E}$$

$$\frac{m_u u_0}{\sqrt{1 - \frac{u_0^2}{c^2}}} = - \frac{m_u u}{\sqrt{1 - \frac{u^2}{c^2}}} + \frac{m v}{\sqrt{1 - \frac{v^2}{c^2}}}$$

$$\left(\frac{m v}{\sqrt{1 - \frac{v^2}{c^2}}} - \frac{m_u u_0}{\sqrt{1 - \frac{u_0^2}{c^2}}} \right)^2 = \frac{m_u^2 u^2}{1 - \frac{u^2}{c^2}}$$

$$\left(\frac{m_u c^2}{\sqrt{1 - \frac{u_0^2}{c^2}}} - \frac{m_u c^2}{\sqrt{1 - \frac{u^2}{c^2}}} \right)^2 = \frac{m_u^2 c^2}{1 - \frac{u^2}{c^2}}$$

$$\left(\quad \right)^2 - \left(\quad \right)^2 = m_u^2 c^2$$

$$\left(\frac{m_u c^2}{1 - \frac{u_0^2}{c^2}} - \frac{m_u u_0^2}{\sqrt{1 - \frac{u_0^2}{c^2}}} \right) + \left(\frac{m c^2}{1 - \frac{v^2}{c^2}} - \frac{m v^2}{1 - \frac{v^2}{c^2}} \right)$$

$$- \frac{2 m_u m (c^2 - u_0 v)}{\sqrt{1 - \frac{u_0^2}{c^2}} \sqrt{1 - \frac{v^2}{c^2}}} = m_u c^2$$

$$m \cancel{c^2} = \frac{2 m_u (c^2 - u_0 v)}{\sqrt{1 - \frac{u_0^2}{c^2}} \sqrt{1 - \frac{v^2}{c^2}}}$$

$$\left[\frac{m}{2 m_u} = \frac{1 - \frac{u_0 v}{c^2}}{\sqrt{1 - \frac{u_0^2}{c^2}} \sqrt{1 - \frac{v^2}{c^2}}} \right]$$

$$1 - \left(\frac{u_0}{c}\right)^2 = \left(\frac{2 m_u k}{m}\right)^2$$

$$\frac{m}{2 m_u} \sqrt{1 - \frac{u_0^2}{c^2}} = k = \frac{m c^2}{2 W_0} \ll 1$$

$$k^2 \left(1 - \frac{v^2}{c^2}\right) = 1 - \frac{2 u_0 v}{c^2} + \frac{u_0^2 v^2}{c^4}$$

$$\left(\frac{u_0^2}{c^4} + \frac{k^2}{c^2}\right) v^2 - \frac{2 u_0 v}{c^2} + (1 - k^2) = 0$$

$$v = \frac{\frac{u_0}{c^2} \pm \sqrt{\frac{u_0^2}{c^4} - (1 - k^2) \left(\frac{u_0^2}{c^4} + \frac{k^2}{c^2}\right)}}{\frac{u_0^2}{c^4} + \frac{k^2}{c^2}}$$

$$v \approx \frac{u_0}{c} \pm \frac{u_0}{c} \pm \sqrt{k^2 \left(\frac{u_0^2}{c^4} - \frac{1}{c^2}\right)} + \frac{k^2}{c^2}$$

$$\left(\frac{u_0}{c} + k\right) \left(\frac{v}{c}\right)^2 - \frac{2 u_0}{c} \cdot \frac{v}{c} + (1 - k^2) = 0$$

$$\frac{v}{c} = \frac{\frac{2 u_0}{c} \pm \sqrt{\left(\frac{u_0}{c}\right)^2 - \left(\frac{u_0}{c} + k\right)(1 - k^2)}}{\left(\frac{u_0}{c}\right)^2 + k^2} = \frac{\frac{u_0}{c} \pm k \sqrt{\left(\frac{u_0}{c}\right)^2 - 1 + k^2}}{\left(\frac{u_0}{c}\right)^2 + k^2}$$

©2022 YHAL, YITP, Kyoto University
京都大学基礎物理学研究所 湯川記念館史料室

§ Shower Production by Cosmon



